# Generalizations of Hadamard Products of Certain Meromorphic Uniformly Univalent Functions with Positive Coefficients

M. E. Drbuk<sup>1</sup> and M. M. Ribh<sup>2</sup>

### **Abstract**

In this paper, we obtained some results concerning the generalized Hadamard products of certian meromorphic uniformly starlike and convex functions with positive coefficients.

**Key words and phrases:** Univalent, meromorphic, starlike, convex, uniformly, Hadamard product.

#### 1. Introduction

Let  $\Sigma$  denote the class of meromorphic functions of the form:

$$f(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_k z^k,$$
 (1.1)

which are analytic and univalent in the punctured unit disc

$$U^* = \{z : z \in \mathbb{C} \text{ and } 0 < |z| < 1\}.$$

A function  $f(z) \in \Sigma$  is meromorphically starlike of order  $\alpha$  if

$$-\operatorname{Re}\left\{\frac{zf'(z)}{f(z)}\right\} > \alpha\left(z \in U^*; 0 \le \alpha < 1\right). \tag{1.2}$$

We denote by  $\Sigma S^*(\alpha)$  the class of all meromorphically starlike functions of order  $\alpha$ .

A function f(z) in  $\Sigma$  is said to be meromorphically convex of order  $\alpha$  if

$$-\operatorname{Re}\left\{1+\frac{zf''(z)}{f'(z)}\right\} > \alpha\left(z \in U^*; 0 \le \alpha < 1\right). \tag{1.3}$$

And we denote by  $\Sigma K(\alpha)$  the class of all meromorphically convex functions of order  $\alpha$ .

The classes  $\Sigma S^*(\alpha)$  and  $\Sigma K(\alpha)$  have been studied by Aouf and Silverman [3], Pomerenke [12], Clunie [6], Kaczmarski [9], Royster [13], Juneja and Reddy [8], Mogra [11] and others.

A function f of the form (1.1) is said to be in the class  $U\Sigma S^*(\alpha, \beta)$  of meromorphic uniformly  $\beta$ -starlike functions of order  $\alpha$  if it satisfies the condition:

$$-\operatorname{Re}\left\{\frac{zf'(z)}{f(z)} + \alpha\right\} > \beta \left|\frac{zf'(z)}{f(z)} + 1\right| \left(z \in U; 0 \le \alpha < 1; \beta \ge 0\right). \tag{1.4}$$

Also a function f of the form (1.1) is said to be in the class  $U\Sigma K(\alpha,\beta)$  of meromorphic

<sup>&</sup>lt;sup>1</sup> Department of Mathematics, Faculty of Art and Science, Msallata, Al-Mergib University.

<sup>&</sup>lt;sup>2</sup> Department of Mathematics, Faculty of Education, AL Asmarya Islamic University.

uniformly  $\beta$  -convex functions of order  $\alpha$  if it satisfies the condition:

$$-\operatorname{Re}\left\{1+\frac{zf''(z)}{f'(z)}+\alpha\right\} > \beta \left|2+\frac{zf''(z)}{f'(z)}\right| \left(z \in U; 0 \le \alpha < 1; \beta \ge 0\right). \tag{1.5}$$

It follows from (1.4) and (1.5) that

$$f \in U \Sigma K(\alpha, \beta) \Leftrightarrow -zf' \in U \Sigma S^*(\alpha, \beta). \tag{1.6}$$

The classes  $U\Sigma S^*(\alpha, \beta)$  and  $U\Sigma K(\alpha, \beta)$  have been studied by Aouf et al. [1], Atshan and Kulkarni [4], and others.

We note that:

- (i)  $U \Sigma S^*(\alpha, 0) = S_n^*(\alpha)$  and  $U \Sigma K(\alpha, 0) = K_n(\alpha)$  [see Aouf and Silverman [3], with n = 1];
- (ii)  $U \Sigma S^*(\alpha, 0) = \sum_p S_n^*(\alpha, \gamma)$  and  $U \Sigma K(\alpha, 0) = \sum_p K_n(\alpha, \gamma)$  [also see El-Ashwah et al. [7], with  $n = p = \gamma = 1$ ].

From [1, Theorem 1, with  $\lambda = 0$  and  $g(z) = \frac{1}{z(1-z)}$ ] we can obtain the following coefficients inequality, for the class  $U \Sigma S^*(\alpha, \beta)$ .

**Lemma 1 [1].** Let the function f defined by (1.1). Then  $f \in U \Sigma S^*$  if and only if

$$\sum_{k=1}^{\infty} [k(1+\beta) + (\alpha+\beta)] a_k \le (1-\alpha). \tag{1.7}$$

From (1.6) and (1.7) we can obtain the following lemma.

**Lemma 2.** Let the function f defined by (1.1). Then  $f \in U \Sigma K(\alpha, \beta)$  if and only if

$$\sum_{k=1}^{\infty} k \left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right] a_k \le (1 - \alpha). \tag{1.8}$$

#### Remark 1.

- (i) Putting  $\beta = 0$  in Lemma 1, we obtain the result obtained by Aouf and Silverman [3, Lemma 1, with n = 1];
- (ii) Putting  $\beta = 0$  in Lemma 1, we obtain the result obtained by El-Ashwah et al. [7, Lemma 1, with  $n = p = \gamma = 1$ ];
- (iii) Putting  $\beta = 0$  in Lemma 2, we obtain the result obtained by Aouf and Silverman [3, Lemma 2, with n = 1];
- (vi) Putting  $\beta = 0$  in Lemma 2, we obtain the result obtained by El-Ashwah et al. [7, Lemma 2, with  $n = p = \gamma = 1$ ].

For the functions

$$f_{j}(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_{k,j} z^{k} (a_{k,j} \ge 0; j = 1, 2).$$
 (1.9)

We denote by  $(f_1 * f_2)(z)$  the Hadamard product (or convolution) of functions  $f_1(z)$  and

 $f_2(z)$ , that is

$$(f_1 * f_2)(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_{k,1} a_{k,2} z^k.$$
 (1.10)

For any real number r and s, we define the generalized Hadamard product  $(f_1\Delta f_2)(r,s;z)$ by [see Aouf and Silverman [3]]

$$(f_1 \Delta f_2)(r,s;z) = \frac{1}{z} + \sum_{k=1}^{\infty} (a_{k,1})^r (a_{k,2})^s z^k.$$
 (1.11)

Note that, if we take r = s = 1, then we have

$$(f_1 \Delta f_2)(1,1;z) = (f_1 * f_2)(z)(z \in U^*).$$

Further for functions  $f_{j}(z)(j=1,2)$  are given by (1.9), the familiar Hölder inequality assumes the following form (see [10,14]).

$$\sum_{k=1}^{\infty} \left( \prod_{j=1}^{m} a_{k,j} \right) \le \prod_{j=1}^{m} \left( \sum_{k=1}^{\infty} (a_{k,j})^{s_{j}} \right)^{\frac{1}{s_{j}}} (s_{j} \ge 1; j = 1, 2, ..., m; \sum_{j=1}^{m} \frac{1}{s_{j}} \ge 1).$$
 (1.12)

# 2. Main Results

**Theorem 1.** If the functions  $f_j$  (j = 1, 2) defined by (1.9) are in the classes  $U \Sigma S^*(\alpha_j, \beta)$ , for each j, then

$$(f_1 \Delta f_2) \left(\frac{1}{r}, \frac{r-1}{r}; z\right) \in U \Sigma S^*(\xi, \beta) (r > 1),$$

and

$$\xi \leq 1 - \frac{(k+1)(1+\beta)}{1 + \left[\frac{k(1+\beta) + (\alpha_1 + \beta)}{1 - \alpha_1}\right]^{\frac{1}{r}} \left[\frac{k(1+\beta) + (\alpha_2 + \beta)}{1 - \alpha_2}\right]^{\frac{r-1}{r}}}.$$
 (2.1)

**Proof.** Since  $f_i(z) \in U \Sigma S^*(\alpha_i, \beta) (j = 1, 2)$ , by using Lemma 1, we have

$$\sum_{k=1}^{\infty} \frac{[k(1+\beta) + (\alpha_j + \beta)]a_{k,j}}{(1-\alpha_j)} \le 1(j=1,2).$$
 (2.2)

Moreover,

$$\left\{ \sum_{k=1}^{\infty} \frac{[k(1+\beta) + (\alpha_1 + \beta)]a_{k,1}}{(1-\alpha_1)} \right\}^{\frac{1}{r}} \le 1,$$
(2.3)

$$\left\{ \sum_{k=1}^{\infty} \frac{[k(1+\beta) + (\alpha_2 + \beta)]a_{k,2}}{(1-\alpha_2)} \right\}^{\frac{r-1}{r}} \le 1.$$
(2.4)

By using Holder inequality, we get

$$\sum_{k=1}^{\infty} \left\{ \left[ \frac{[k (1+\beta) + (\alpha_1 + \beta)]}{(1-\alpha_1)} \right]^{\frac{1}{r}} \left[ \frac{[k (1+\beta) + (\alpha_2 + \beta)]}{(1-\alpha_2)} \right]^{\frac{r-1}{r}} \right\} \left( a_{k,1} \right)^{\frac{1}{r}} \left( a_{k,2} \right)^{\frac{r-1}{r}} \le 1.$$
 (2.5)

Since

$$(f_1 \Delta f_2) \left(\frac{1}{r}, \frac{r-1}{r}; z\right) = \frac{1}{z} + \sum_{k=1}^{\infty} (a_{k,1})^{\frac{1}{r}} (a_{k,2})^{\frac{r-1}{r}} z^k.$$
 (2.6)

Therefore, we need to find the largest  $\xi$ , such that,

$$\sum_{k=1}^{\infty} \frac{\left[k\left(1+\beta\right)+(\xi+\beta)\right]}{\left(1-\xi\right)} \left(a_{k,1}\right)^{\frac{1}{r}} \left(a_{k,2}\right)^{\frac{r-1}{r}} \le 1,\tag{2.7}$$

that is

$$\frac{\left[k\left(1+\beta\right)+\left(\xi+\beta\right)\right]}{\left(1-\xi\right)} \le \left[\frac{\left[k\left(1+\beta\right)+\left(\alpha_{1}+\beta\right)\right]}{\left(1-\alpha_{1}\right)}\right]^{\frac{1}{r}} \left[\frac{\left[k\left(1+\beta\right)+\left(\alpha_{2}+\beta\right)\right]}{\left(1-\alpha_{2}\right)}\right]^{\frac{r-1}{r}}, \quad (2.8)$$

which implies

$$\xi \le 1 - \frac{(k+1)(1+\beta)}{1 + \left[\frac{k(1+\beta) + (\alpha_1 + \beta)}{1 - \alpha_1}\right]^{\frac{1}{r}} \left[\frac{k(1+\beta) + (\alpha_2 + \beta)}{1 - \alpha_2}\right]^{\frac{r-1}{r}}}.$$
(2.9)

This completes the proof of Theorem 1

#### Remark 2.

- (i) Putting  $\beta = 0$  in Theorem 1, we obtain the result obtained by Aouf and Silverman [3, Theorem 1, with n = 1];
- (ii) Putting  $\beta = 0$  in Theorem 1, we obtain the result obtained by El-Ashwah et al. [7, Theorem 1, with  $n = p = \gamma = 1$ ].

**Corollary 1.** If the functions  $f_j(z)(j=1,2)$  defined by (1.9) are in the class  $U\Sigma S^*(\alpha,\beta)$ , then  $(f_1\Delta f_2)(\frac{1}{r},\frac{r-1}{r};z)\in U\Sigma S^*(\alpha,\beta)(r>1)$ .

**Proof.** In view of Lemma 1, Corollary 1 follows immediately from Theorem 1 by taking  $\alpha_i = \alpha(j=1,2)$ .

**Theorem 2.** Let the functions  $f_j(z)(j=1,2)$  defined by (1.9) are in the classes  $U \Sigma K(\alpha_j,\beta)$  for each j, then  $(f_1 \Delta f_2) \left(\frac{1}{r},\frac{r-1}{r};z\right) \in U \Sigma K(\xi,\beta)$ ,

where r > 1 and  $\xi$  is defined by (2.1).

**Proof.** Since  $f_i(z) \in U \Sigma K(\alpha_i, \beta)(j=1,2)$ , by using Lemma 2, we get

$$\sum_{k=1}^{\infty} \frac{k \left[ k \left( 1 + \beta \right) + \left( \alpha_{j} + \beta \right) \right]}{(1 - \alpha_{j})} a_{k,j} \le 1 \quad (j = 1, 2).$$
 (2.10)

Thus, the proof of Theorem 2 is similar to that of Theorem 1, where Lemma 2 is used instead of Lemma 1.

#### Remark 3.

- (i) Putting  $\beta = 0$  in Theorem 2, we obtain the result obtained by Aouf and Silverman [3, Theorem 2, with n = 1];
- (ii) Putting  $\beta = 0$  in Theorem 2, we obtain the result obtained by El-Ashwah et al. [7, Theorem 2, with  $n = p = \gamma = 1$ ].

**Corollary 2.** Let the functions  $f_j(z)(j=1,2)$  defined by (1.9) are in the class  $U\Sigma K(\alpha,\beta)$ , then

$$(f_1 \Delta f_2) \left(\frac{1}{r}, \frac{r-1}{r}; z\right) \in U \Sigma K(\alpha, \beta) \quad (r > 1).$$

**Theorem 3.** Let the functions  $f_j(z)(j=1,2,...m)$  defined by (1.9) be in the classes  $U\Sigma S^*(\alpha_j,\beta)$  for each j, and let the function  $F_m(z)$  defined by

$$F_{m}(z) = \frac{1}{z} + \sum_{k=1}^{\infty} \left( \sum_{j=1}^{m} (a_{k,j})^{r} \right) z^{k} \qquad (z \in U^{*}; r \ge 2).$$
 (2.11)

Then  $F_m(z) \in U \Sigma S^*(\xi_m, \beta)$ , where

$$\xi_m \le 1 - \frac{2m\left(\beta + 1\right)\left(1 - \alpha\right)^r}{m\left(1 - \alpha\right)^r + \left(1 + \alpha + 2\beta\right)^r},\tag{2.12}$$

$$\alpha = \min_{1 \le j \le m} \left\{ \alpha_j \right\},\tag{2.13}$$

and

$$(1+\alpha+2\beta)^r > m(1+2\beta)(1-\alpha)^r. \tag{2.14}$$

**Proof.** Since  $f_j(z) \in U \Sigma S^*(\alpha_j, \beta)$ , using Lemma 1, we obtain

$$\sum_{k=1}^{\infty} \frac{[k(1+\beta) + (\alpha_j + \beta)]a_{k,j}}{(1-\alpha_j)} \le 1 \qquad (j=1,2,...,m)$$
 (2.15)

and

$$\sum_{k=1}^{\infty} \left\{ \frac{[k(1+\beta) + (\alpha_j + \beta)]}{(1-\alpha_j)} \right\}^r (a_{k,j})^r \le \left\{ \sum_{k=1}^{\infty} \frac{[k(1+\beta) + (\alpha_j + \beta)]a_{k,j}}{(1-\alpha_j)} \right\}^r \le 1.$$
 (2.16)

It follows from (2.16) that

$$\sum_{k=1}^{\infty} \left\{ \frac{1}{m} \sum_{j=1}^{m} \left[ \frac{[k (1+\beta) + (\alpha_{j} + \beta)]}{(1-\alpha_{j})} \right]^{r} (a_{k,j})^{r} \right\} \leq 1.$$
(2.17)

By virtue of (2.17), we find that

$$\sum_{k=1}^{\infty} \left( \frac{[k (1+\beta) + (\xi_m + \beta)]}{(1-\xi_m)} \right) \left( \sum_{j=1}^{m} (a_{k,j})^r \right) \leq \sum_{k=1}^{\infty} \frac{1}{m} \left[ \frac{[k (1+\beta) + (\alpha + \beta)]}{(1-\alpha)} \right]^r \left( \sum_{j=1}^{m} (a_{k,j})^r \right)$$

$$\leq \sum_{k=1}^{\infty} \frac{1}{m} \sum_{j=1}^{m} \left[ \frac{[k(1+\beta)+(\alpha_{j}+\beta)]}{(1-\alpha_{j})} \right]^{r} (a_{k,j})^{r} \leq 1, \tag{2.18}$$

which implies that

$$\xi_m \le 1 - \frac{m(k+1)(\beta+1)(1-\alpha)^r}{m(1-\alpha)^r + [k(1+\beta) + (\alpha+\beta)]^r}, \quad (k \ge 1).$$

$$(2.19)$$

Now let

$$g(k) = 1 - \frac{m(k+1)(\beta+1)(1-\alpha)^{r}}{m(1-\alpha)^{r} + [k(1+\beta) + (\alpha+\beta)]^{r}}.$$
 (2.20)

Then

$$g'(k) = \left\{ m \left( 1 - \alpha \right)^r + \left[ k \left( 1 + \beta \right) + \left( k + \beta \right) \right]^r \right\} \left( -m \left( 1 - \alpha \right)^r \left( \beta + 1 \right) \right).$$

$$\cdot \left\{ m \left( 1 - \alpha \right)^r + \left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right]^r \right\}^{-2}$$

$$+ m \left( 1 - \alpha \right)^r \left( 1 + \beta \right) \left( k + 1 \right) \left\{ r \left( \beta + 1 \right) \left[ \left( k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right) \right]^{r-1} \right\}.$$

$$\cdot \left\{ m \left( 1 - \alpha \right)^r + \left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right]^r \right\}^{-2}$$

$$= m \left( 1 - \alpha \right)^r \left( 1 + \beta \right) \left[ k \left( 1 + \beta \right) + \alpha + \beta \right]^r \left\{ -\left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right] + r \left( 1 + \beta \right) \left( k + 1 \right) \right\}.$$

$$\cdot \left[ k \left( 1 + \beta \right) + \alpha + \beta \right]^{-1} \left\{ m \left( 1 - \alpha \right)^r + \left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right]^r \right\}^{-2}$$

$$- m^2 \left( 1 - \alpha \right)^{2r} \left( 1 + \beta \right) \left[ k \left( 1 + \beta \right) + \alpha + \beta \right] \cdot \left[ k \left( 1 + \beta \right) + \alpha + \beta \right]^{-1}.$$

$$\cdot \left\{ m \left( 1 - \alpha \right)^r + \left[ k \left( 1 + \beta \right) + \left( \alpha + \beta \right) \right]^r \right\}^{-2}$$

$$= \frac{A \left( k \right)}{B \left( k \right)},$$

where

$$A(k) = m(1-\alpha)^{r} (1+\beta)[k(1+\beta) + \alpha + \beta]^{r} \{-[k(1+\beta) + (\alpha + \beta)] + r(1+\beta)(k+1)\} - m^{2}(1-\alpha)^{r} (1+\beta)[k(1+\beta) + \alpha + \beta] \quad (k \ge 1)$$
and using (2.13), then we have

$$A(k) = m^{2} (1-\alpha)^{2r} (1+\beta) \{r(1+\beta)(k+1) - 2[k(1+\beta) + \alpha + \beta]\} \ge 0$$

for all  $r \ge 2, 0 \le \alpha < 1$  and  $\beta \ge 0$ . Then we have  $g'(k) \ge 0$  for all  $r \ge 2, 0 \le \alpha < 1, \beta \ge 0$  and  $k \ge 1$ . Hence

$$\xi_m \leq 1 - \frac{2m(\beta+1)(1-\alpha)^r}{m(1-\alpha)^r + (1+\alpha+2\beta)^r}.$$

By  $(1+\alpha+2\beta)^r \ge m(1+2\beta)(1-\alpha)^r$ , we can see that  $0 \le \xi_m < 1$ . Thus the proof of Theorem 3 is completed.

## Remark 4.

- (i) Putting  $\beta = 0$  in Theorem 3, we have the result obtained by Aouf and Silverman [3, Theorem 3, with n = 1];
- (ii) Putting  $\beta = 0$  in Theorem 3, we obtain the result obtained by El-Ashwah et al. [7, Theorem 3, with  $n = p = \gamma = 1$ ];
- (iii) Putting r = 2 and  $\alpha_j = \alpha$  (j = 1, 2, ..., m) in Theorem 3, we obtain the following corollary.

**Corollary** 3. Let the functions  $f_j(z)(j=1,2,...,m)$  defined by (1.9), be in the class  $U\Sigma S^*(\alpha,\beta)$  and let the function  $F_m(z)$  be defined by

$$F_m(z) = \frac{1}{z} + \sum_{k=1}^{\infty} \left( \sum_{j=1}^{m} (a_{k,j})^2 \right) z^k \qquad (z \in U^*)$$

Then  $F_m(z) \in U \Sigma S^*(\eta_m, \beta)(z \in U^*)$ , where

$$\eta_{m} = 1 - \frac{2m(\beta + 1)(1 - \alpha)^{2}}{m(1 - \alpha)^{2} + (1 + \alpha + 2\beta)^{2}},$$
(2.21)

and

$$(1+\alpha+2\beta)^2 \ge m(1+2\beta)(1-\alpha)^2.$$

The result is sharp, the extremal functions are

$$f_{j}(z) = \frac{1}{z} + \frac{(1-\alpha)}{(1+\alpha+2\beta)}z \ (j=1,2,...,m).$$

Taking m = 2 in Corollary 3, we obtain the following corollary.

**Corollary 4.** Let the functions  $f_j(z)(j=1,2)$  defined by (1.9), be in the class  $U\Sigma S^*(\alpha,\beta)$  and let the function  $F_2(z)$  defined by

$$F_2(z) = \frac{1}{z} + \sum_{k=1}^{\infty} (a_{k,1}^2 + a_{k,2}^2) z^k \quad (z \in U^*).$$
 (2.22)

Then  $F_2(z) \in U \Sigma S^*(\zeta_2, \beta)(z \in U^*)$ , where

$$\zeta_2 = 1 - \frac{4(\beta + 1)(1 - \alpha)^2}{2(1 - \alpha)^2 + (1 + \alpha + 2\beta)^2},$$
(2.23)

and

$$(1+\alpha+2\beta)^2 \ge 2(1+2\beta)(1-\alpha)^2. \tag{2.24}$$

#### Remark 5.

- (i) Putting  $\beta = 0$  in Corollary 4, we obtain the result obtained by Aouf and Silverman [3, Corollary 4, n = 1].
- (ii) Putting  $\beta = 0$  in Corollary 4, we obtain the result obtained by El-Ashwah et al. [7, Corollary 4, with  $n = p = \gamma = 1$ ].

**Theorem 4.** Let the functions  $f_j(z)(j=1,2,...,m)$  defined by (1.9), be in the classes  $U \Sigma K(\alpha_j,\beta)$  for each j, and let the function  $F_m(z)$  defined by (2.11). Then  $F_m(z) \in U \Sigma K(\gamma_m,\beta)$ , where

$$\gamma_m \le 1 - \frac{2m\left(\beta + 1\right)\left(1 - \alpha\right)^r}{m\left(1 - \alpha\right)^r + \left(1 + \alpha + 2\beta\right)^r} \quad , \tag{2.25}$$

$$\alpha = \min_{1 \le j \le m} \{\alpha_j\}$$

and

$$(1+\alpha+2\beta)^r \ge m\left(1+2\beta\right)\left(1-\alpha\right)^r. \tag{2.26}$$

**Proof.** Since  $f_i(z) \in U \Sigma K(\alpha_i, \beta)$ , using Lemma 2, we obtain

$$\sum_{k=1}^{\infty} \frac{k \left[ k \left( 1 + \beta \right) + \left( \alpha_j + \beta \right) \right]}{(1 - \alpha_j)} a_{k,j} \le 1 \qquad (j = 1, 2).$$
 (2.27)

Thus, the proof of Theorem 4 is similar to that of Theorem 3, where Lemma 2 is used instead of Lemma 1.

By taking r = 2 and  $\alpha_j = \alpha(j = 1, 2, ..., m)$  in Theorem 4, we obtain the following corollary.

**Corollary 5.** Let the functions  $f_j(z)(j=1,2,...,m)$  defined by (1.9) be in the class  $U \Sigma K(\alpha,\beta)$  and let the function  $F_m(z)$  defined by

$$F_m(z) = \frac{1}{z} + \sum_{k=1}^{\infty} \left( \sum_{j=1}^{m} (a_{k,j})^2 \right) z^k \qquad (z \in U^*).$$
 (2.28)

Then  $F_m(z) \in U \Sigma K(\zeta_m, \beta)$ , where

$$\zeta_m = 1 - \frac{2m(\beta + 1)(1 - \alpha)^2}{m(1 - \alpha)^2 + (1 + \alpha + 2\beta)^2},$$
(2.29)

and

$$(1+\alpha+2\beta)^2 \ge m(1+2\beta)(1-\alpha)^2$$
. (2.30)

Taking m = 2 in Corollary 5, we obtain the following corollary.

**Corollary 6.** Let the functions  $f_i(z)(j=1,2)$  defined by (1.9) be in the class  $U\Sigma K(\alpha,\beta)$ 

, where  $\alpha$  satisfies (2.24) and let the function  $F_2(z)$  defined by (2.22). Then  $F_2(z) \in U \Sigma K\left(\zeta_2,\beta\right)\left(z \in U^*\right)$ , where  $\zeta_2$  is defined by (2.23).

.....

# References

- [1] M. K. Aouf, R. M. El-Ashwah, and H. M. Zayed, Subclass of meromorphic functions with positive coefficients defined by convolution, Studia. Univ. Babes-Bolyai Math. (To appear), 1-14.
- [2] M. K. Aouf and G.Murugusundarmoorthy, On a subclass of uniformly convex functions defined by the Dziok-Srivastava operator, Austral. J. Math. Anal. Appl., 5 (2008), 1--17.
- [3] M. K. Aouf and H. Silverman Generalization of Hadamard products of certian meromorphic univalent functions with positive coefficients, Demonstratio Math., 41 (2008), no. 2, 381-388.
- [4] W. G. Atshan and S. R. Kulkarni, Subclass of meromorphic functions with positive coefficients defined by Ruscheweyh derivative I, J. Rajasthan Acad. Phy. Sci., 6 (2007), no. 2 129-140.
- [5] J. H. Choi, Y. C. Kim and S. Owa, Generalizations of Hadamard products of functions with negative coefficients, J. Math. Anal. Appl., 199 (1996), 495-501.
- [6] J. Clunie, On meromorphic schlicht functions, J. Lond. Math. Soc., 34 (1959), 215-216.
- [7] R. M. El-Ashwah, M. K. Aouf, A. A. M. Hassan and A. H. Hassan, Generalizations of Hadamard product of certain meromorphic multivalent functions with positive coefficients, European J. Math. Sci., 2 (2013), no. 1, 41-50.
- [8] O. P. Juneja and T. R. Reddy, Meromorphic starlike univalent functions with positive coefficients, Ann. Univ. Mariae Curie-Sklodowska Sect. A 39 (1985), 65-76.
- [9] J. Kaczmarski, On the coefficients of some classes of starlike functions, Bull. Acad. Polon. Sci Ser. Sci. Math. Astronom Phys., 17 (1969), 495-501.
- [10] D. S. Mitrinovic and P. M. Vasic, Analytic Inequalities, Springer, New York 1970.
- [11] M. L. Mogra, Hadamard product of certain meromorphic univalent functions, with positive coefficients, J. Math. Anal. Appl., 157 (1991), no. 1, 10-16.
- [12] Ch. Pommerenke, On meromorphic starlike functions, Pacific J. Math. 13 (1963), 221-235.
- [13] W. C. Royster, Meromorphic starlike multivalent functions, Trans. Amer. Math. Soc., 107 (1963), 300-302.
- [14] J. F. Tian, Extension of Hukes inequality and its applications, J. Inequal. Appl., (2011), 1-14.